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(a) 7 Faer Ao | SIEeT FaT &.

(b) T Faer FAHT || SIET FTaT 2.

(c) Tt AT AT Ao | I7 || SIEor F2aT .

(d) Tt 7 a1 Ao | T 2¥ 11 SIHETT FH2aT 2.

(e) ITE FAT R | 3% [ THTT 7 3.

Q1. &Y. W<R<T= S>X> B>F<K=M

e I: F<T II: T>F
L1Difficulty 2
QTagslnequalities Reasoning

Q2.FY: R=P=D=W<Z= A>V=N
fAsFd I: R>Z 1I: A>D
L1Difficulty 2
QTagslnequalities Reasoning

Q3.&Y: K=Q>E> G>]>Y=2D<R<T
A I K>T II: T<K
L1Difficulty 2

QTagslnequalities Reasoning

Q4. g [>P< Y=>T=M=> W=X<C=D
A I Y>X II: X=Y
L1Difficulty 2

QTagslnequalities Reasoning

Q5. FIF: P<Q<X=B< E=T>Y=U<L
s [: U<X II: X<U
L1Difficulty 2
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Direction (6-10): == T & w=ii # A9 qcai F "eg Gaer & IATAT AT g, FAAN &6 A1
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(a) 7 Faer A | SIgET FaT &.
(b) T Faer FAHT || SITET FLaT 2.
(c) Tf 37 T Aol | 3T || STEor FXaT 2.
(d) =fE 7 a7 A | T 7 11 S8 F2aT 5.
(e) 7fx THT FAohT | 3% 1| SIgEeoT 7 2.

Q6.%IT: A>E<P<V<D=W>T20>Q
fAsF 1 Q<D II: W>E
L1Difficulty 2

QTagslnequalities Reasoning

Q7.FIM: Q<J<0<D<R>W=U>P
ARy I: R>Q II: D>U
L1Difficulty 2
QTagslnequalities Reasoning

Q8. ®I: Y=0=E=W=P<S<G
fAed I 5>0 II: P<Y
L1Difficulty 2
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Q9.F9: H<T= R< X<V>Z=S
A I Z>T II: T>Z
L1Difficulty 2
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Q10.%¥: M< L=V=G>F=W<T<R
A [ L>W II: G=R
L1Difficulty 2
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Directions (11-15): = R 7 w1t ® A= qeat & wew d<e i QqTAT 9T §. FAA1 & A
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(a) 7T Fae A | SITE FaT &.
(b) T2 Faer w11 SITET FTaT 2.
(c) T2 a7 T Aol | 3T || STE0r FXaT .
(d) 7t 7 a7 Ao | 7 2¥ 11 SIHET F2aT 2.
(e) 7T TAT Aoh | 3% 11 SIgEeoT 7 2.

Q11. #Y7-P>Q>R=U, U=T<S, T=W
fasss 1. R>W 1. U=W



L1Difficulty 2
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Q12. FJ7:P>Q>R<U, U2V>S, V<W
fA sy 1. P>S I P<S
L1Difficulty 2

QTagslnequalities Reasoning

Q13. Y7 A=K>X<L>N<R, Q=A, N=M
A . 1. Q>X 1. K>M
L1Difficulty 2
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Q14. Y7 ]=K>X<L>N<R; Q=K; J]<M
A5 1. Q>X 11. X<M

L1Difficulty 2
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Q15. FI7-]>K>X<L>N<R; Q=J]<M
fA s 1. R<M II. M>R

L1Difficulty 2
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Solutions
Solution (1-5):
S1. Ans(b)
Sol. I: F<T (False) II: T>F (True)
S2. Ans(d)
Sol. I: R=Z (False) II: A>D(False)
S3. Ans(d)
Sol. I: K>T (False) II: T<K (False)
S4. Ans(c)
Sol. I: Y>X (False)  II: X=Y (False)
S5. Ans(c)
Sol. I: U<X (False) II: X<U (False)

Solution (6-10):
S6. Ans(b)



Sol. I: Q<D(False)

S7.Ans(a)
Sol.I: R>Q (True)

S8. Ans(b)
Sol. I: S>O(False)

S9. Ans(c)
Sol. I: Z>T (False)

S10. Ans(a)
Sol. I: L>W(True)

Solutions (11-15):
S11. Ans.(c)
Sol. . R > W (False)

S12. Ans.(d)
Sol.I. P > S (False)

S13. Ans.(a)
Sol. 1. Q > X (True)

S14. Ans(e)
Sol. 1. Q > X (True)

S15. Ans(d)
Sol. . R < M (False)

[I: W>E(True)

II: D>U (False)

II: P<Y(True)

II: T=Z (False)

II: G=R(False)

II. U=W (False)

II. P < S (False)

II. K> M (False)

II. X <M (True)

II. M =R (False)



